Adda247

PROFESSIONAL EXAMINATION

BOARD
i Professional  Group-05 Pharmacist, Lab technician
@bgggfpg”‘-‘“"” and other equivalents post

Recruitment Test -2017
17th April 2017 03:00 PM

Topic:- General Studies

1) Choose the correct form of expression to complete the sentence:
Four of the _ of the car were Kkilled in the accident.

1. inhabitants

2. inmates

3. occupants

4. persons

Correct Answer :-
e occupants
2) Choose appropriate articles for the given sentence:

Petroleum Ministry has proposed increase of Re.1 per liter of petrol from midnight
November 1.

1. A, an
2. The, an
3. An, the

4. A, a

Correct Answer :-

3) Choose the appropriate prepositions for the given sentence:
We have lived England 1980.

1. at, in
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2. for, of
3. 1n, since

4. between, in

Correct Answer :-
e in, since

4) The process of settling suspended impurities at the bottom of liquid by allowing it to stand is

known as /%A & da R, fdfaa il & agvra &t g oy, 39@ fuer ot
ufspar Fgadt gl

1. Decantation / ROl
2. Centrifugation / NIscoru
3. Distillation / 3{THd-

4. Sedimentation / 3{ddIg

Correct Answer :-

e Sedimentation / ddTgT

5) Which state has launched the Dulari Kanya scheme to reduce infant mortality? / g =g A

Y] g &R &t HH e F e gardt w1 A1 3= 3t 82
1. Madhya Pradesh / H&J e

2. Haryana / giaron

3. Arunachal Pradesh / 30T UG

4. Orissa /E@GT

Correct Answer ;-

« Arunachal Pradesh / 3{SUTT UGl

6) Who won the Nobel Peace Prize for 2016? / ¥ 2016 H, Jraq =it YRIPIR fae Sfrar?
1. Juan Manuel / 93{Tq ﬁﬂ\’rﬁf

2. White Helmets / ®1gC %@E\W

3. Nadia Murad / 1G0T TR

4. Denis Mukwege /39 HWPT

Correct Answer :-

« Juan Manuel / J3HTq 'Elﬂ@dﬂ
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7) FrfafEa § & $-91 W “JTqa” o1 wafgar e 781 § 2
1. Sldlq
2. IR
3. 9iRa

4. Sigd

Correct Answer :-

8) Handles of most kitchen utensils are made of / Sfpar m'é o=t %3’6’} 3
CERGEA|

1. Steel / THId
2. Wood / &SI

3. Copper / dldl
4. Aluminium / Qﬁ&lﬁ'{l—q

Correct Answer :-

. Wood/m

9) 15 % of is60./ T 15%, 60 il |
1. 40

2.4

3. 400

4. 90

Correct Answer :-

e 400

10) Choose the correct form of tense for the given sentence:
The population of India ___ very fast since the last census.
1. has increased

2. has been increasing

3. increases

4. will have been increasing
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Correct Answer :-

 has been increasing

11) &8 & <o quit &1 T 1 82
1.24
2.33

3.45

4. 30

Correct Answer :-

12) If the perimeter of a rectangular wedding hall is 200 meters, what is the area of its four walls if

the height of the hall is 12 m?/w_smm?ﬁawﬁﬁmtrmwzootﬂai mwm
BT &G T G, TfS 1A B Hars 12 7t &2

1. 2400m / 2400 T

2. 240m? / 240 T2

3. 2000 m? / 2000 H}2
4. 2400m? / 2400 Hi?
Correct Answer :-

o 2400m? / 2400 HI2

13) Which spiritual guru was awarded the Padma Vibhushan in 20172 / 2017 ¥ 51 smeanfaie 1<
P U FAYTUr REPR | GW1a fopar e

1. Baba Ramdev / STST J[HGd
2. Morari Bapu / ORRY oY
3. Yogi Adityanath / it snfaay

4. Sadhguru Jaggi Vasudev / JgiT® ol | OII{:L:‘(OI

Correct Answer :-

» Sadhguru Jaggi Vasudev / HgiT® ol | dlﬁad

14) Choose the appropriate usage to fill in the blank:
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The boy thanked the gentleman
1. hurtfully

2. with a heavy heart

3. wholeheartedly

4, with a full heart

Correct Answer :-

e wholeheartedly

15)
Which of the followng rational numbers lie between _—: and g'?' ) TeFatei@a § & &= o aReg

Hw'—;uirgasﬂwamﬁ‘é‘?

=l o

LAl w

4, -

Correct Answer :-

16) If PRABA is coded 27595 and THILAK is coded 368451, then how is BHARATHI coded? / Uﬁ' PRABA
B 27595 W DIfSd fPUT ST & 3R THILAK DY 368451 | HIfSd fFar STaT @, 9 BHARATHI &Y
A HIfsa fear s

1. 96575368
2. 57686535
3. 96855368

4. 37536689

Correct Answer :-

e 96575368
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17) «3q g9 Td Qe 3 F YR W TR W FaTg?
1. fayara® are

2. faf¥aras a1

3. Y yaTa® I

4. THHATID TR

Correct Answer :-

. FSearE® gt

18) A shopkeeper buys a washing machine for Rs. 17,500, and sells it for Rs. 21,700. How much profit

will he make out of it? / T& BTG AT WA B 17,500 T § WedT &, 3R 39 21,700 &
ITaT 31 SIS fpa=m @y ghm?

1. Rs. 4,000 / 4,000 3=>UU
2. Rs. 4,200 / 4,200 =UUQ
3. Rs. 6,000 / 6,000 *=UUQ

4. Rs. 5,200 / 5,200 =UU

Correct Answer :-
e Rs. 4,200 /4,200 =UUQ

19) The following question based on an encryption system in which/ 9% U% t& Ufr== yomelt wR
amutfa § fore

Bring me water is coded as Ki Pu Le / Bring me water B Ki Pu Le I Sifsd far siran %

Don't waste water is coded as Do Ki Ma / Don't waste water & Do Ki Ma 9 ®Ifgd forar oimar @
Bring that board is coded as Le Tha Se / Bring that board &) Le Tha Se ¥ S\f&d frar Sirar @
Which word is coded as Ki? / {3 qreg 1 Ki & ®ifed forar mam 82

1. Bring
2. Water
3. Waste

4. Board

Correct Answer :-

o Water

20) “IT% H GH B AT GoTaX &1 A 32
1. 9gd U9F g
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2. 9gd IR HAT
3. Xd AT
4. Far 3
Correct Answer :-

. Tgd WM HAT

21) The slow process of conversion of dead vegetation into coal is called / §d AW & Hrga |
wuiavur it St ufra wgardt 8

1. Carbonization /EIO—IWUT
2. Compression /QTJIﬁE:f

3. Composting/?l'fﬁ[%lUT

4. Destructive distillation / fJdgea®RY 3T

Correct Answer :-

« Carbonization / BT-IHRUT

22) Choose appropriate articles for the given sentence:

She painted _ wonderful scenery in water colors while sittingin __ garden.
1. the, a

2. the, the

3.an, a

4. a, the

Correct Answer :-

23) The property of materials by virtue of which they can be moulded into the desired shape is called /

Tl 1 ure, oIS MR R 32 35d PR # ra S Jobdl &, Peardal &

1. Elasticity / UTRIdI

2. Plasticity / YT
3. Malleability / 3TaTaad=adn

4. Ductility / d=IdT

Correct Answer :-

« Plasticity / YT
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24) Evaluate the following: 3mn2x 5mn2 x - 4mn2 + 5mn2 x 2n2m. / FEfaReaq &1 gaaiea
B3 : 3mn2x 5mn2 x - 4mn2 + 5mn2 x 2n2m

1. 12mn?

2. -6mn?

3. 10mn

4. 6mn®

Correct Answer :-

e -6mn?

180 Students of class 10 were asked to give their options for PCM, BCZ and Commerce streams. The
options are shown in the above Pie Chart. If 30% students have opted for BCZ. Find the measure of the

angle at the Centre? / &a&Tl 10 & 180 SHAI &I UIHIUH, dHSS Ud Aol a7 § § 30
faweT &1 & a1 Tl 39ed deaws dic 7 fawed wefia e 4 §1 IfE 30% ot °
dIETats &I fdded & Io1 &, dl g T 58S HIOT HT AT A H|

1. 500°
2. 200°
3. 100°
4. 108°

Correct Answer :-

» 108°

Topic:- Radiographer

1) What is the atomic number and melting point of Gold? /A BT UIHT[ P 3R
TP R 5?2

1. 74,3370 °C
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2.78, 1770 °C
3.76,1020 °C

4.79, 1064 °C

Correct Answer :-

« 79,1064 °C

2) What is the Atomic number and melting point of Platinum? / Wi TH &1 UIHI[ HHID
IR T FT ]2

1. 64, 1550 °C
2.78,1768 °C
3.74, 1063 °C

4. 84,3370 °C

Correct Answer :-

« 78,1768 °C

3) Name the attractive force between the positively charged nucleus and the negatively
charged electron which keeps the electrons in the atom? / &< SMafra AfH® 3R BT
STATRG SATE & a1 & I ATHYT 96 DT ATH IS¢ Sl URATY H Seideq Bl 1
@I 32

1. Forbidden transition / TS dhH0T
2. General radiation / T fafdur

3. Bremsstrahlung radiation / aw fafpur
4. Binding force / S Sl

Correct Answer :-

« Binding force / S Sl

4) Which of the following statement is INCORRECT regarding electrostatics? / R

fagafast & IR & f & & 19 91 a1 3R B2

1. Matter has mass and energy equivalence. Matter also may have electric charge. / gard o

SIHH 3R Sl deadl & | Uerd ¥ fagad smawr ot 8 9&ar g
2. Electrostatic is the study of moving electric charges. / ﬁ‘gﬁqﬂ TR & T BT 3 &Y, R

fagafde! seamr gl
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3. Electrification can be created by contact, friction, or induction. / W, Y07 97 UROT gI_T

fagadieu Iad far s gwdr g |

4. Electric charge distribution is uniform throughout on the surface. / ﬁl@qﬂ 3T 1 fqdRUr A
R UHIHH BT |

Correct Answer :-

« Electrostatic is the study of moving electric charges. / ﬁgq?r TR o ATeH BT 3ea, fRR

fagafae®! e gl

5) The temperature during drying process must not exceed . /'\ﬂ@ﬁ CARIEQ
EEIIEAN PERATUAHE & 3if¥e T g iRl

1.25%

2.30°C

3.350C

4. 40 OC

Correct Answer :-
. 350C

6) Which sentence defines space charge effect in the X-ray tube? aE kI qI, Q’W—% Jd

T W1 ST YU (U ITol shpe) DI TRUTNT HedT 32

1. Collection of negatively charged electron in cathode. / FUrS H BT 3o sadg\ll"l CakeRE

2. Tendency of the space charge to limit the emission of more electrons from the filament. / aﬂ |

3T ATl b Soi- Bl U DR o Y RIS A B U |

3. Number of electron flowing towards target. / ¢1&J P 3R dsq Gl sadg\fﬂ P |

4, Energy of the electron is converting into heat. / sadgTﬂ Dt Foll o1 AT H ulafdd gl

Correct Answer :-

« Tendency of the space charge to limit the emission of more electrons from the filament. / aﬂ |

3HTYP ZATE I b IS B T B B foIE RIS SATAY P Hgf|

7) The number of protons in the nucleus is called ./ Y o 'Fﬁ\_{[a Uterd o "B

G Hgd g
1. Ions / A

2. Atomic number / URHTU-sh HIch
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3. Mass number / SOTHTH-IAT
4, Isotopes | TS

Correct Answer :-

« Atomic number / UXHTU[-ShHIH

8) Which one of the following is particulate radiation? / fFrafefea o 3 sy fafewor
PIHATE?

1. X-rays / TRIX
2. Ultrasound / HEAIFIIB' S

3. Neutrons / ?ET:[
4, Gamma rays / I[THI foof

Correct Answer :-

 Neutrons / Wgﬁ

9) How many bones are present in the hand? / 814 o foat E%TH g g?
1.27

2.32

3.106

4.20

Correct Answer :-

. 27

10) X-ray tube anode target is made up of tungsten material because ./ Q_GR‘I-Q' gd

TS TRAIT, e Uerd | 9917 S1dT € R |

1. It has high melting point - 3300 degree Celsius / SH®DT AP I g % - 3300 f&Ult

2. It has a high atomic number. / HPT UIHY] hHID 3= S\Idl %
3. It is good material for the adsorption of heat / g HBHI CANGINUET 1%111 33| qa?f%
4, It cannot be made into any shape / 3@ El'ﬂ_s; i THR :I_Eﬁm Sfl Hohdl %

Correct Answer :-

o Itis good material for the adsorption of heat / Ug HHI & (AR & foTT ST EIET?-f%
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11) The final film in the radiography is in the form of ./ fsaruret o sifaw

fee, = FwUATHIZI
1. Positive / TIToIcd
2. Negative / fAAifeg

3. Neutral / gl
4.Both A and C/ A 3R C aFf

Correct Answer :-

« Negative / fAAifeg

12) Which option best explains transformers law? / m & fAuw &) P11 e
HTH 3y | afofd sar g2

1. Product of current and kVp and time. / YIRT 3R Hd 3R gHT P1 Uit |

2. The voltage in the two circuits is proportional to the number of turns in the two coils. / al
gRat & diees gl Haferdl o HIS! o1 T & FHIGUT gidl g |

3. For every action there is an equal and opposite reaction. / Ud® fhar & fore T gHH 3R
faoia ufafsran gt 21

4. Intensity is inversely related to the square of the distance from the source. / ?‘ﬂaT‘IT, EEIGES| ?\P[ &

I & AU gl 5|

Correct Answer :-

« The voltage in the two circuits is proportional to the number of turns in the two coils. / al

IRUYT H e 3l pfordl & Hie! ol TS S JAMUT 8T 3|

13) Regarding rectifier, which of the following statement is said to be CORRECT? /

RyceMid ar #, FEffad I s T sy I 32
1. Voltage increase is proportional to the turn ratio. / m, o S{JUId & FITIHQ'IT'ﬂ grar % I

2. It works only in direct current. / J Had [SFYURT (Slq\idt HC) T HTH BT %I

3. It is an electronic device that allows current flow in only one direction. / g Udh i?:qu SUD U]

& Sl Had U o= & 4RT UaTe & SrAfd ST g |

4. 1t converts direct current to alternative current. / ﬁ'ﬁﬁf YRT (E"W HC) CAR I CRIKIRY]
(3ffeexAfed #ie) § uafdd HRar |

Correct Answer :-
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« It is an electronic device that allows current flow in only one direction. / g Udh iaglkl SUDU]

& Ol %ad Uep =M & 4RT aTe &1 3Hfa ST g |

14) Imaginary vertical planes passing through the body parallel to the median plane is

called J/ Sdd & FHMTAR IRR G TORA aTd BIed-d SR aall i

SIS g |
1. Median plane / H¥ dcl
2. Sagittal plane / gafrardf aa
3. Coronal plane / fedicta aa
4, Horizontal plane / afas aa

Correct Answer :-

« Sagittal plane / Trfardf aa

15) The pH of blood is

1.7.0

2.74

3.6.0

4.6.4

Correct Answer :-

7.4

16) The intensity of the X-ray beam that leaves the X-ray tube not uniform throughout all

portions of the beam is known as

./ TRI-Y o | 916R o aTat Ta-X faprorygt

$t digar, S fevorgs & Tt i § v JuE 8 gt 8, 39 HeT AT 3|

1. Saturation voltage / ﬂﬂﬁ Jreedl
2. Heel effect / ﬁﬁ UHTd

3. Space charge / EAISCACIGE

4. Tube rating / Eﬂﬁw

Correct Answer :-

o Heel effect / gﬂﬁ UYHTd

17)
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The desirable characteristic of film base is ./ Tred SMYR $I qiz-g ﬁlﬁw,
gl

1. Transparent and Transmit light uniformly / HHIH ¥U I Wy 3R GARE UbT
2. Non-uniform in thickness / ﬁa‘s‘ H g

3. Flammable / AR

4. Unstable / 3RR

Correct Answer :-

« Transparent and Transmit light uniformly / JHIH ¥=U Iy 3R Tl wepT=T

18) Silver halide crystals are present in the ./ Reav %Fﬂg?{ foreea _ | 'Fﬁvfc{
IdEl

1. Base / 3IUR

2. Super coat / LI (g aﬂa

3. Substratum layer / 3{¥:¥dX URd

4, Emulsion layer / U Ud

Correct Answer :-

« Emulsion layer / UTd¥ Ud

19) Energy that passes from one location to another and can have many manifestations

refers to /ﬁﬁﬁ@@ﬁﬁﬁ@ﬁﬁﬁ%ﬁ?ﬁﬂﬁma
TEAHELTE _ edE

1. Radiation / fafdRor

2. lonizing / SMAHRY

3. Radon / X&H

4, Non-ionizing / TR-3MIHRY

Correct Answer :-

« Radiation / fafezur

20) is a vascular connective tissue present in the cavity of the bone which
differs in compensation in different bones at different ages. / 3Ty a?r{m |
Hivlg U Hag! w4l Sae & Rrae am il smg & Rt ey § srer-arent
GOk
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1. Cartilage / IUTRY
2. Bone marrow / 3 AT
3. Blood / ¥dd

4. Fibers / dd

Correct Answer :-

« Bone marrow / 31 TSIl

21) Which of the following statement is CORRECT regarding the characteristics of a

gagnetic material? /ﬂ?ﬁﬂu gerd #t faiwar & IR A Fafafea a4 9 oq arad

1. Diamagnetic material is unaffected by a magnetic field. / m EIET?I, W REE
UM Bl 5|

2. Non-magnetic material is weakly repelled from both poles of a magnetic field. / ﬁ?—ﬂaﬁq

Uard, o1y &3 & alF yal § geferdl 9 Ul itid g1 g |

3. Paramagnetic material is weakly attracted to both poles of a magnetic field. / &aﬂaﬁu tIETQf,

I &F & S Ydl IR gaardl o ATHNd gl |

4, Ferromagnetic material cannot be magnetized. / ?ﬁ%ﬁﬂaﬁn W?-f Cal ga’% 7'|€f fopar o
o gl

Correct Answer :-

« Paramagnetic material is weakly attracted to both poles of a magnetic field. / W tIET?-f,

JIHIT &F & g Ydl W gaad 9 B i g |

22) Imaginary planes passing through the body at right angles to both the median and

coronal planes is / A 3R fHdg ?ﬂ:ﬁa?ﬁﬁ, THSIUN TR IRR I
TSR 9T BTD aal di Sl ST 3|

1. Median plane / H& dcl
2. Sagittal plane / ity aa
3. Coronal plane / [ICTT aa

4. Horizontal plane / afas aa

Correct Answer :-

» Horizontal plane / afas aa

23)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The fluorescent crystals in the phosphor layer of intensifying screen are suspended in a

transparent binder, named as ./ dtg® T aﬁwﬂw URd (ﬁ?ﬁ? aTR') H
fadiw fed (RN e foheea), A%, U YRS divie | fRrefad gid &1

1. Polyethylene / q”lélqlilélﬂ
2. Polyurethane / QWQ:T

3. Polyester / qﬁw
4. Polycarbonate / PINICACIRE

Correct Answer :-

« Polyurethane / ﬁ?ﬂ?{ﬁﬂﬁr

24) In X-ray tube, protective housing reduces the level of leakage radiation to less than

, when operated at maximum conditions. / T@I-X gd #, ARETHD S{TART,
fafpzor v & w3t q S B ¢dT 7, 9 SHfIwaw FRufaal w Harfera
GG

1. 10mR/hr at 1 meter / 1 AICX W 10 THIR/ECT

2. 0.01mR/hr at 2 meter / 2 HIeX U 0.01 THIR/EET
3. 100mR/hr at 1 meter / 1 HIex UR 100 THIIR/HeT
4. 1000mR/hr at 1 meter / 1 HIEX TR 1000 THIIR/HeT

Correct Answer :-

« 100mR/hr at 1 meter / 1 HIeX TR 100 THR/HeT

25) Find the proper number of electron arrangement in atom of Barium.

K-shell  ,L-shell ___, M-shell ,N-shell____./ofq9 & WA § gaae
FIRIT 1 IfAd HWIT BT gal T |

FHIN TAH  UHBIR TAHR |

1.2,8,18,32

2.3,6,12,24

3.4,8, 16,32

4.2,8,18, 18

5.2,8,18,18

Correct Answer :-

e 2,8,18,18
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. 2,8,18,18

26) The CT number of water is / STl 1 i Igan 2l
1. -1000

2. 1000

3.0

4. 100

Correct Answer :-

« 0

27) are essential for normal bone growth and remodeling which are obtained
from the diet. / , BT5al & A= fae 3R gfe & e emaza® €, <
3R & U 81 &1

1.VitaminsA&C/ﬁET&FfQ3'ﬁTFﬁ
2. Vitamins B & D / faeTf® T &f 3R St
3. VitaminsA&B/ﬁ?IﬁFfQ\’rﬁTEﬁ
4. Vitamins C & D / faerfer It iR St

Correct Answer :-

« Vitamins A & C / [def v siR &t

28) Choose the CORRECT statement. / &l &Y &I I

1. Semiconductors are classed into m-type and n-type. / 3 EIRCAEA UH-UPRR 3R THIPR H

aiffepd fpar ST 1

2. Voltage rectification is required to ensure that electron flow from cathode to anode only. / dleedr
gR=NeH, T8 AT T & o 3awaes § o Saae < &1 Udg »ad s § THIS &1
AREI &

. . . . . . a NG
3. More voltage ripples result in greater radiation quantity and quality. / 3Hfep dlecdl HiHDI &

ORUmIRaS Y i fafdh=or AT 3R T[uras gt 8|
4. Single phase power has 90% voltage ripple. / Ydh ¢l TRUI Ifad & 90% dieest HHHT R

Correct Answer :-

« Voltage rectification is required to ensure that electron flow from cathode to anode only. / Jlecdl

Uﬁ?ﬁﬁ,@%ﬁﬁf@ﬁﬁ%%ﬁ 3T ¢ [ Zaae - & UaTg Had HUS | TAIS B
R EIAIBI
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29) The function of a focussing cup is to VR'acatukakakan

gar gl
1. Focus the electron to focal spot / Bl d Wie R 3@3@\’7[ DI HIHd HIAT

2. Increase the energy of electron / $€1d'§T'1 o kel del-l

3. To produce electron from filament / flrac 9 sadgTﬂ CARCICICL R

4. To reduce heat production / HBHI SUIGT P H PRI

Correct Answer :-

« Focus the electron to focal spot / (hlehdl Tic IR $€1d§T"I D! HIHY HAI

30) The thickness of a conventional medical X-ray cut film base is ./ T URUR®

RffT T IFec P MUR PIHCE gt gl
1. 0.80mm / 0.80 f&rdt
2.0.19mm / 0.19 T&H
3.0.18mm / 0.18 Tordt
4. 0.08mm / 0.08 o

Correct Answer :-

« 0.18mm/0.18 et

31) Which of the following statement is INCORRECT regarding rotating anode X-ray tube?

/ gH aTelt TS Ua-Y ogd & AR o fafafaa # @ o919 91 a1y sa 82

1. The ability of the X-ray tube to achieve high X-ray outputs. / 3= QOR-I-% {13 cYc Ut PR D
foIQ TeRIX Jd B &l

2. Its capability of withstanding the heat generated by the large exposure. / TP IG T 34
ST B G- B P 3! &

3. The purpose of the rotating anode is to spread the heat produced during an exposure over a large

area of the anode. /Wﬁ%ﬁ@,%%@@%%@ﬂ%%ﬁmm

TS 3 BT TR ST 5 |

4. Rotating anode decreases the total target area. / ‘QFI?ﬁ TS ¥ Dol &g &3 HH G AT ] |

Correct Answer :-

« Rotating anode decreases the total target area. / ‘afl?‘ﬂ T ¥ P &y &3 HH g o ¢ |
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32) The transfer of heat through a material or by touching is known as ./ Tt
gerd & HTeTH | 91 P A ST & RIFIAR0T B CaRE I

1. Conduction / Il
2. Convection / Jdg-
3. Radiation / fafr
4. Potential energy / fyfas St

Correct Answer :-

o Conduction / Tl

33) Stable Gold has a nucleus with protons and neutrons. / fTRR A
& AT1fH® | WeHeiR__ ggHsd gl

1.79, 118

2.89, 118

3.79, 128

4. 89, 128

Correct Answer :-

« 79,118

34) Lateral 90 degrees flexion projection of elbow joint is mainly done for / ﬁ?‘ﬁ

& Siis 31 Uty 90 f& srpaT wekuur, g1 U | ¥ fore fPar SmaT 81
1. Patient comfort / X1 &1 3RTH &

2. The olecranon process can be seen in profile / av_q:{ (\HWVFD Ufeha1 &1 aRwsfaedmT O @
qh

3. Radius can be seen in profile / Ao sify &%ﬂﬂ) B IRSIGHT H 7 b
4, Ulna can be seen properly / N RRSEAIRGT] (3N B To! ¥ 41 T

Correct Answer :-

« The olecranon process can be seen in profile / mk (&m\ﬁ) Ui &l IR fadT | ¢

35) Find the appropriate definition of radiation unit Roentgen. / fafe~or WI% Twi{ Bt
Ifera Ry FarsT]

1. Electric charge per unit mass of air. / gfd $dpl‘$c edl & GHHM BT f&gud 3TATT |
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2. Quantity of radiation received by radiation worker and populations. / fafesxur HHf SR e
&R1 01w fafeRur &t AT

3. Radiation emitted by material. / Tard gRT Ifoid fafeu|
4. Radiation dose in air and tissue. / §aT 3R 3ad A ﬁﬁj‘{ fafesur am |

Correct Answer :-

o Electric charge per unit mass of air. / Gt WI%EGT% GOUHI bl iagud 3TAYT|

36) The floor of the darkroom should be .| AUBY (31?;7_511) CAR ]

g =R

1. Durable / f]ChTS

2. Not slippery / e arar

3. Easily cleaned / \’rﬁ@' 1% o g3l
4. All of the above / mﬁ gyt

Correct Answer :-

« All of the above / mﬁ gyt

37) The initial radioactive atom that undergoes disintegration is called , while the
end of product is called ./ URfY® Yfsarefaeq UIHTY], <l fageT | TodT T3
PEI A1 8, TaiP 3ifaH IS B PEISATAT 2|

1. Radioactivity, radioisotopes / fafes=ur m, fafesrur g=fe W ,
RIS L))

2. Radioisotopes, radioactivity / fafeor me, Ifarafoead &%ﬁf &nsﬂ'i‘cﬁq, ISar

3. Parent, daughter / SI-(b, gafd (ﬁi"c’, Siex)
4, Daughter, parent / ﬂ'?lﬁ, NEE2 1SVIE€, ﬁi?)

Correct Answer :-

« Parent, daughter / S, Tafd (Eﬁ?, SVIEQ)

38) In automatic film processor, the total processing time is only ./ W’%ﬁl’ W
TR ®, $d Wi awg Rk ol
1. 20s

2.45s
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3. 60s

4. 90s

Correct Answer :-

* 90s
39) AP axial lordotic projection of the chest is done to demonstrate ./ BTl BT
T sreflg avsifew o aﬁw&hmﬁ%m%mmél

1. Base of the lungs /m & IATYR

2. Apex of the lungs / m & oY

3. Hilum of the lungs / m P YD
4. Ribs / gferl

Correct Answer :-

« Apex of the lungs / m & oY

40) Scotty dog projection of spine is also called as . /'\ﬂ?.f' ) Eg"f & TWHIcI SN
We&qur oI W w1 EaT B

1. PA oblique projection / iy fade ueur
2. AP oblique projection / ud} fade geru
3. Right lateral projection / GI&0T a7+ meguy
4. Left lateral projection / dTH a7+ weu

Correct Answer :-

« AP oblique projection / wdt fade gergor

41) What material is the rotating anode stem made of? / qlﬁ CI TF'ﬁ?i BT HY, f5a tIET?-f

191 a1 2

1. Copper / dIdl

2. Tungsten / GRS

3. Molybdenum / Hlcse-H
4. Silver / 9id]

Correct Answer :-

» Molybdenum / AldesTH
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42) When orbital electron in magnetic elements is aligned predominantly in one direction

resulting in the formation of magnetic poles in the atom as a whole. These atomic magnets

are called as /meﬁﬁmgﬁﬁﬂ@wawmﬁm
BT 8, A 3HP IRV ¥ URHTY] # g9 1 Ydl &7 T3 gl 8 | 39 WRHIfvas

TP DI FEd gl
1. Magnetic domains / W & (ﬁ"ﬁ% Gﬁ'ﬁ:D

2. Non-magnetic elements / ﬁ?—ﬂ@ﬂ'ﬂ‘q dd

3. Magnetic compass / ﬂdd)nlbl Ifad{j\dcb

4. Magnetic induction / W UROT

Correct Answer :-

e Magnetic domains / W & (ﬁT\ﬁﬁTﬁ Eﬁfﬁ)

43) What is the atomic number of tungsten? / STRE+T BT IRHTU[-SHHI® FIT 32

1. 64

2.74

3. 84

4. 94

Correct Answer :-

44) Which of the following cells are involved in phagocytosis? / ‘H&mﬁ»‘m o fafeafea

# & DI 3l PIRIEH /i g2
1. Reticular cells / STTTTHT DI &ﬁw @?ﬂ)
2. Mast cells / H¥J T DIRBT HX @Fﬂ)

3. Histiocytes / %F\%Thm

4. Plasma cells / &ITGHT HIRIBT

Correct Answer :-

« Histiocytes / %ﬁlﬂﬂm

45) Characteristic curve is the curve which plots against

T g o & g Sifdd far wrar g1
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1. Exposure and density / 3«&IH 3R T

2. Exposure and sharpness / 3@ 3R <leorar
3. Exposure and resolution / JagIq 3R faveA
4. Exposure and fog / 3l 3R g

Correct Answer :-

. Exposure and density / &I 3R ¥

46) During radiological procedure, if the hand of a radiation worker has to be near the
primary beam, the dose to the hands of the technologist may be determined through the use

of the ./ fafevu-fafecareae ufsrar & SR, afe fafewo s4f &1 g1y mufae
forvor Yo & U 7Y, o a1 & g1l & fore | @ten &t CAINES
fAuffya foear s goar 21

1. Primary personnel monitor worn at collar level / IR TR db UgH UdfHd FHHf AR

2. Pocket ionization chamber attached to the wrist watch of the radiation worker / Tafdp=0T Wf
DI HATs To! I ST O SAHRUT Héf

3. Cutie pie / ?PICPT BIE]

4, TLD ring badge worn on the hand of the radiation worker / fafaor W‘f & By " gl
duas e

Correct Answer :-

« TLD ring badge worn on the hand of the radiation worker / fafavor W‘f & By " gl
duas e

47) carry deoxygenated blood toward the heart. / ®ad 31 3R

fasiierftafa R & et 31
1. Arteries / YT

2. Veins / W

3. Arterioles / YHHHTY

4. Venules / TRIRTY (é‘:mm)

Correct Answer :-

e Veins / |§R|Q'

48) Which of the following joint resembles the hinge of a door which enables with only

flexion and extension movements? / fFgffRaa # | Cap k) \_rﬁS', Udh m kT kg
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X ¢ ol b sirpa= auT favar wfafafirn & |y 8 9arm giar g2
1.Planejoint/ﬂ'ﬂ?ﬁffﬁn@vr

2. Hinge joint / ool (fg=oT) SIS
3. Pivot joint / YIFT SIS
4. Condylar joint / Hag \_rh_s'

Correct Answer :-

. Pivot joint / YRTI SIS

49) Which of the following is a method that can be used to answer patient questions about
the amount of radiation received from a radiological procedure? / fafafaad P
fafdr g o fafprur-Rifeares uisrar & ura fafeszor &Y A & aR & IR0 & usi &1
IR ¢ & T 3T 3 511 Al 82

1. ALARA / TUEESRTY
2. BERT / §133REl

3. BRET / S13MR3cl

4. EPA /34T

Correct Answer :-

« BERT / 33

50) Imaginary planes passing through the body at right angle to the median plane, dividing
it into anterior and posterior portions is called as ./ A0 9§ JHSIU R I[WR A
oI 9Td HTIP ad, ot 39 31 3R Uy YFN A fyuforg #wa g |

1. Median plane / H¥ ddl
2. Sagittal plane / ity aa
3. Coronal plane / [t dd

4, Horizontal plane / afas ad

Correct Answer :-

« Coronal plane / [ICTT ad

51) Which option best defines residual space charge? / ®i9 91 fadpey ARy WifA®
TR B1 FAAT TR Ha1 82
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1. It occurs when filament of an X-ray tube is heated. / g dd E\I(‘II % olid QOR-I—% R Pl ?lﬂ TRH

gargl

2. Switches used to initiate and stop an exposure. / BEEED gﬂatﬂ?f, fop et g Bl = GRE
NINER EARIMERIISII

3. Almost all the electrons to be pulled away from the filament, the instant they are emitted. /

AT Gt Saiae, dq 9 Fed I ], T &f07 39T SeH s |

4. Intensity of the beam depends on the angle at which the X-ray is emitted from the focal spot. /

fHROTdS 1 <farar, 39 ST IR F1R el 8 o IR TRI, Feia I I Iford 81d o

Correct Answer :-

« Almost all the electrons to be pulled away from the filament, the instant they are emitted. /

AT Gt Saiae, dq 9 Fed I ], T &f01 3961 SsH s |

52) The glands which are ductless and pour their secretion directly into the blood stream are

called as /uﬁlﬁﬁﬁmi%ﬁiﬂ:rﬁ?ﬁ%aﬁ?amﬁmaﬁwﬂﬁmmﬁ
STl €, 32 FeT gl

1. Endocrine glands / 3id:arat Uit
2. Exocrine glands / ai%wﬁ ‘Jﬁl’lﬁ
3. Holocrine glands / H;Um'lﬁﬁ T
4. Apocrine glands / 3OTdt Hfmt

Correct Answer :-

« Endocrine glands / 3fa.ardt UfaT

53) The smallest particle of an element is a/an ; the smallest particle of a
compound is a/an ./ U dcd BT JTH Bl BT, TH g1 §; U AR
ST I BICT I g gl

1. Molecule, atom / 3{UJ, UHTY]

2. Atom, molecule / UXHIT], U]
3. Particle, electron / U, gﬁaifﬂ

4. Electron, particle / § @Iaﬁvﬂ, U

Correct Answer :-

« Atom, molecule / UXHIT], 3]

54)
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ALARA is an acronym for . / 3[ART (TTATS(RT), T UH Afera
TH R

1. As Low An Reasonable Achievable / U] ar Tq in\fl:ld d anlad d

2. Always Low As Reasonable Achievable / 3ffcael @l 'Sl é\l\;illd [y '\Jtlnlad d

3. As Low As Reasonable Achievable / TSl Sl Tl in\?l:ldc’l qq"laqm

4. As Low As Reason Achievable / Us] F‘ﬁ Tl '\PTGI:T Qiﬂaﬁ

Correct Answer :-

o As Low As Reasonable Achievable / Ud] F’ﬁ Tl é\l\,ﬂ:l@lﬂ Htlnlaldm

55) What is the direct exposure film system also known as? / UA& SogTH e yorTelt 31
IR frd =9 & ST AT 32

1. Computed radiography / 3fpferd fafdror femror (30_131%3? m
2. Non-screen film system / R-TpH e yumedt

3. Digital radiography / iy fafeor famo (%’[\ASIEFT m

4. Screen film system / Thi flhed gorre!

Correct Answer :-

« Non-screen film system / R-TpH e yormedt

56) Choose the best option for a paramagnetic material. / Gﬂﬂaﬁﬁ'q yerd & ferg a9y
faweu o1 aaa H

1. Gadolinium / TSI aH
2. Iron / F‘ﬁ%T

3. Nickel / vt

4. Cobalt / PldTeT

Correct Answer :-

. Gadolinium/ilélls‘lﬁqﬁl

57) The developer which is used in the development stage is . /@H?ITR, ol fapa &
WO H IYGRT foam AT @, gl

1. Sodium hydroxide / HIf ST BRGIFAZS
2. Potassium bromide / GTCTRIIH @TI'I%@'
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3. Sodium sulfite / mﬂw
4, Hydroquinone / slsél@:ilq

Correct Answer :-

. Hydroquinone/slégl@:“:i

58) Air gap technique maintains the gap between which two things? / dTg 3fRTA AP,

{1 &Y gt & i F1 gl B A @A B2
1. Image receptor and the patient / Bfd 1/'I'Igjf 3R At

2. Cassette and the X-ray tube / Hac 3R L{Q‘H—% d

3. X-ray tube and the patient / T\TER:T-% Ad 3R IR

4. Table and the X-ray tube / T 3R TG T

Correct Answer :-

« Image receptor and the patient / Bfd ‘;Ilé| 3R

59) What are the atoms composed of nuclei with same number of protons but different
number of neutrons called? / W= B THH TBAT Afb Yeld 31 fird @ ara Afie
q §9 URHTY] 1 T HEd 82

1. Tons / 3T

2. Atomic number / URHTU-sh HIch
3. Mass number / GTHT-ISAT

4, Isotopes / RIS

Correct Answer :-

« Isotopes / T

60) Which of the following was used as first measure of exposure for ionizing radiation? /

Mg RI fAfeur F forg Igr = &1 ugan Sur Fufiafad # & &= |1 ar
1. Siever‘t/?i:]a_cF
2. RAD / 3RT8!

3. Skin erythema / o<l RESE (ﬂﬁq 313\@1:”)
4, Roentgen / PSuAIE|

Correct Answer :-
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« Skin erythema / T IfeTAT (ﬂﬁq Sikam)

61) Due to anode heel effect of the X-ray tube, the thicker part to be radiograph should be
faced to of the X-ray tube. / W—% Jd & E:ﬁ:"i ﬁﬁ UHTd & PRI, JfEame
T oI+ aret St Hie UM Sl TR SgE & B 3R TG F1fgu|

1. Cathode side / PUS UTQ'[H

2. Anode side / TS URR[@

3. Between anode and cathode sides / Fﬁ‘s’ GﬁT %""h—é tIT‘\’[_Q' & &
4. Central axis / baid 31&f

Correct Answer :-

. Cathode side / HUTS quz[a'

62) SI unit of Energy is ./ el Bl W\’rﬂé ng, g
1. Joule / 9cT
2. Joule/Second / \_IET@W

3. Newton / <gc
4. Roentgen / PSuIE]

Correct Answer :-

« Joule / Sfcl

63) Electric motor is a device that converts ./ ﬁ'gqa Hiex Udh t},ﬂT SUDRT %
it B FUTING BT 3|

1. Electric energy to mechanical energy / ﬁ_g{qa Sl &l Tife ol J
2. Mechanical energy to electric energy / gifA® SHoll Bl f&qu St o
3. Magnetic field to electric energy / Ga® 1T &5 P! fagad SHoif A

4, Electric energy to magnetic field / f&qu Sl B ﬂd P & °

Correct Answer :-

« Electric energy to mechanical energy / ﬁ'g{qﬁ STl & i SHoll A

64) The cassette back is lined with lead is to avoid the ./ CRIC R ﬁl’({'

FUT P JYS W AT (AS) Ft IRd TGI8 rdl 2
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1. Entering of light / UPIRI D YA HA

2. Leakage radiation / fafexur &1 i g1

3. Leakage of light from intensifying screens / dtad whi-l A 9 fafexo & fie Eﬁef
4, Back scattering of radiation / fafe=or & famdid wepioA

5. Leakage radiation / fafdvur 1 &l g1

6. Back scattering of radiation / fafevor & famid wepioE

Correct Answer :-

« Back scattering of radiation / fafevor & famid wepioA

» Back scattering of radiation / fafesor & fausta wepivlA

65) Which of the following chemical functions as the sensing material in a

thermoluminescent dosimeter? / FHfIET WA A P A ?rmi?rq?r HATAT
HTgfide SRitie) # Hadt uerd & ¥ # &1l #3d 82

1. Sodium iodide / HTSTH ASIES

2. Lithium fluoride / fafgw Wﬁﬂ%@'q

3. Calcium tungstate / HfeRTH TR

4. Barium sulfate / SRIH Fethe

Correct Answer :-

 Calcium tungstate / iRy AR

66) is the movement of the body part away from the main axis of the body or
away from the midsagittal plane in a lateral direction. / MR b H©T 3&l CRT

a1 ursf fewm ® wergafirard 9@ @ R, IR & 4R ) afafafr g

1. Abduction / 3Udd (TESR)

2. Adduction / 3If¥adH (TSaRM)

3. Extension / fO¥dR (TaRIe=M)

4, Rotation / ‘q:UT:[ (ﬁm

Correct Answer :-

. Abduction / 3Tdc (THSI)
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The intensity of X-ray is directly proportional to the product of the and

/ TRIY B} A, iR & UFEA & JUIFUT gl 2

1. Quality, mass / T[0T, GSUHI

2. Tube current, exposure time / CJ§ YR, SqIHT JHY

3. Quality, tube current / T[UTATI, RIS YIRT
4. Quality, exposure time / UIdTI, SalH1 HHY

Correct Answer :-

« Tube current, exposure time / R YR, aaT JHY

68) The force of attraction or repulsion between two magnetic poles varies directly as the

of the poles and between them. / &1 ﬂﬁﬁ'ﬂ'q ﬂﬂ’f & o9 STHyuT AT
mmcfm% Ay RS dTE_ ¥ gar vwe e
I

1. Heat, strength / 3 SHI, dcf

2. Heat, distance / 3 BHI, @

3. Strength, distance / d¢1, @

4, Strength, breaking / §cf, favisH

Correct Answer :-

« Strength, distance / d¢1, Q_Qo[

69) Protective housing around X-ray tube contains oil that serves as both a/an_

against electric shock and as to dissipate heat. / Y- 3 Jd & ATHUTH JéTdHD
IR ATt RgaasmuaduRiead . $wud IR S o fawr
A & g & U H BT FRa1 gl

1. Insulator, thermal cushion / ﬁ?{qﬁ RNy, gy IuYH (5{181 e, Y D)
2. Thermal cushion, insulator / ATHR SUYH, fagad JU® (Hd HIME, SYaCR)
3. Conductor, vaporization / Halgd, GILYICERU

4, Vaporization, conductor / aT&:ﬁWUT, Ydlgh

Correct Answer :-

« Insulator, thermal cushion / ﬁ’g{qﬁ QBIW, ardrg I (5{1@1 X, Jpare PRA)

70) During interaction, the electron from an outer shell fills the hole in the inner shell, hence,

forming radiation is known as ./ SiRfpaT & a?'F'[, TP qIeet DI BT sﬁag"h,
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%mﬁm%maﬁw%,wwﬁmﬁ%mﬁ & Y H ST Sl
|

1. Pair production / H 3T
2. Compton interaction / P Rl

3. Coherent / gEITd
4. Characteristic radiation / &ﬁfﬂ&m fafeor

Correct Answer :-

« Characteristic radiation / ¥ &‘lﬁ@ fafeor

71) Device used to vary the resistance is called as L ufRiY Pl Igaa | Ugdd
SUBIYT DI FEI AT

1. Ammeter / QI“E?
2. Voltmeter / dlecHIeR
3. Rheostat / i?tﬂéa

4. Capacitor / G MET)

Correct Answer :-

e Rheostat / W@‘c’

72) Higher the of the target atoms, the will be the efficiency of the
production of X-rays. / @& URHTU[S HT fora=T S=aR BT, TR & STeH
@t grerar it o & gl

1. Mass number, average / SoqHT-IT, 3gd
2. Atomic number, average / W—W, 3ad
3. Density, greater / Y-cd, 3P

4, Atomic number, greater / W—m, 3w

Correct Answer :-

« Atomic number, greater / W—W, 3IH

73) Primary coil has 100 turns and secondary coil has 30000 turns. If the potential difference
across the primary coil is 100 volts, what is the potential difference across the secondary coil

according to the Transformer Law? / WTYfH® ﬂ)_\'-'ia:f # 100 HIS 3R fgdias ﬁ?ﬁ 7 30000
s €1 afe wrufire et # fauraiar 100 Aieed g @ ciawnik o & sraR fgdas
pedl # fauraiaR w1 g2
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1. 100 volts / 100 AlecH

2. 1000 volts / 1000 Alecd

3. 3000 volts / 3000 dlecq

4. 30000 volts / 30000 AT

Correct Answer :-

« 30000 volts / 30000 lecy

74)

holds two bones and prevents their dislocation. /

is made up of collagen fibers which provides strength and elasticity and

DTS dg o ST gid g ot

m%ﬁvmmméaﬁ?asﬁaﬁmm%aﬁ?ﬁmﬁ
CEIGIEA

1. Synovial membrane / HId fareedt (ﬁlznﬁtﬁf m
2. Synovial joint / FTd Gng (@F‘hﬁw S5 |E)
3. Fibrous capsule / dggt‘k‘l zbbij\ﬂ (l-hlsﬁ\lq{-l a’)l%j\d)
4. Synovial fluid / |14 aR (RIFIfATS TwUS)

Correct Answer :-

« Fibrous capsule / dqged W (EE]?{@W W

75) Choose the appropriate example for superconductor material. / SffaaTa® tIET?-f G|

Sfera Iereru gH|
1. Rubber / Y&}

2. Glass / DI

3. Silicon / FRifcrep

4, Titanium / Elgéifﬂm
Correct Answer :-

 Titanium / E'IB%&I'CIT[
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